Multiply and Divide by 10° (F)

12 x 103

32 %103 =

52 % 10% =

56 X 103 =

85:10° =

44:10% =

72:10° =

48 x 103 =

14 x 103 =

64 x 10° =

Find each product or quotient.

90:10° =

70 x 103 =

50 x 10% =

60 x 10% =

96:10° =

49:10° =

89 x 10° =

49 x 103 =

98:10° =

75 x 10°% =
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Multiply and Divide by 10° (F) Answers

12 x 10°* =12.000

32 x 10° =32.000

52 % 10 =52.000

56 X 10° = 56.000

85:10° = 0,085

44:10° = 0,044

72:10°=10,072

48 x 10° = 48.000

14 x 103 = 14.000

64 x 10° = 64.000

Find each product or quotient.

90:10°=0,09

70 x 10° = 70.000

50 x 10° =50.000

60 x 10° = 60.000

96:10° = 0,096

49:10° = 0,049

89 x 10° =89.000

49 x 10% =49.000

98:10° = 0,098

75 % 10° = 75.000
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